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68. Choose the right order of the events given in the passage.

a.New York State granted woman the right to attend public colleges and universi-
1ies.
b. The first women’s school of higher education was set up.
¢. Emma Willard died.
d. Emma Willard ran classes in her home.
e. Emma Willard began teaching at school.
f. Emma Willard was elected to the Hall of Fame.
A.e,d,c,b,f,a B.d,e,a,c,b.f
C.d,e,a.b.f,c D.e.d.b,c,a.f
(EE.D)

(3) 18 CHER PR A X K TR IR IR B R — iR 2 X IR 2 L R UPRERIE —
T A R L B R U R LB A TR R R R B B R E M SR X EAR
i A AR, F7 BEXS SO A SR e A B TR E SRR R IR R R, MOX R
B, % A — R AT SR, B LB B VIR T B0k ), SR R O R B e B R R Y B A T
NMET’ 93 % 70 Bk J& 18 s 6y L Bl 7.

70. It can be learned from the text that Delicious apples are ____

A. grown in France B. sold everywhere C. very big D. quite sweet
(EE.0)

RS, 9 W R SO X B — )3 - They (3 apples)have various sizes, with
Delicious apbles being among the largest. Hi'} with Delicious apples being among the largest
#150 HH X Bk apples are very big.

(4) HEPE NI X A — AT S A A O R IE S R A R s O el 4 & AR 725 O
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65. Friendlander can be said to be .
A. clever B. friendly C. hard-working D. strong-minded
M RS Pl B & Y 82 CE  Friendlander &M 2B M A, TR BB 5 FLAE WSS SO X
RO 4R 5 7 AR P A B R LA B AT ARG R W HEIT i B — A O A CERE R D.
strong-minded) .
X . NMET’93 4 77 £ .
77. The people who held Santa Fe for the longest period in history were the __
A. Spanish B. Indians C. Mexicans D. Americans
MECPIHAREE— B 7R3 R 3444 Santa Fe BB, R+ 5 Spanish,
Indians . Mexicans , Americans ¥ B4 TR SHIEG s RR. HE 5 XE  HTFE A
74 678 %0 Spanish 45 ¥4 Santa Fe BB, EREERRH A,
BHKE, XATORE . ORI 6 AW 2 30, RS E — W AMRUE SR &)
T, EFA R SO BT 8 S . SRR S0 R ) R B B T B A L SR R A OB iR
BRI BEAT TR S, SUB T H R SN L A SR ER SES ANS A EE
WA RS EREE, D RIEAEE.
() EEMIED R TN RS BR, B AR F R R B ARG YIS B S8
A . % AR R JFUOC A s 4 PR R R B, S NMET? 93 55 61 &L«
61. The best headline (¥ Yfor this newspaper article would be __
A. The Kingdom of Bicycles B. A Beautiful Hotel in Xi’an
C. Marco Polo and the Silk Road D. An American Achieving His Aims
METHAE AXEALK N SRR LERPELAZ KM 44 FRATEATH
R, Bk D B R A M NS 2 EA SR R E PR . mILE R
KB, A EREE B G FREMREM EXERAY JFERE —EHEAMN. S4.
SN ISR . B E 2 R SO R A R A R 20T, R LR R £
B hE L B ORI BN ER.
(6 R FRARED . B F S 1 PR AP LB AT S R B A — RO AL SR B R TR R R
T4 1 T, TSR S A T RO S R AL BT & DR A 6 & SR M. i NMET’ 93
5575 B

75. Which of the drawings below gives an idea of what Santa Fe is like?

(E%:D




RG =the Rio Grande SFR =the Santa Fe River
OM =the Ortiz Mountains
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Edmund Halley was an English scientist who lived over 200 years ago. He studied
1 | the observations of comets (5 /) which other scientists had made. The orbit (¥

i ) of one particular comet was a very difficult mathematical problem. He could not
figure it out. Neither could other scientists who dealt with such problems.

However,Halley had a friend named Newton.who was a brilliant mathematician. New
ton thought he had already worked out that problem, but he could not find the papers on
which he had done it. He told Halley that the orbit of a comet had the shape of an ellipse (i
B,

Now Halley set to work. He figured out the orbits of some of the comets that had been
observed by scientists. He made a surprising discovery, The comets that had appeared in the
years 1531,1607,and 1682 all had the same orbit. Yet their appearances had been 75 to 76
years apart (FiB#).

This seemed very strange to Halley. Three different comets followed the same orbir. The
more Halley thought about it,the more he thought that there had not been three different
comets .as people thought. He decided that they had simply seen the same comet three times.
The comet had gone away and had come back again.

It was an astonishing idea! Halley felt certain enough to make a prediction( fil 5 Yof what
would happen in the future. He decided that this comet would appear in the year 1758. There
were 53 years to go before Halley's prediction could be tested.

In 1758 the comet appeared in the sky. Halley did not sce it.for he had died some years
before. Ever since then that comet had been called Halley’s comet,in his honour.

1. Edmund Halley figured out the orbit of

- f .



A.some different comets appearing several times
B. the same comet appearing at different times
C. three different comets appearing three times
D). several comets appearing at the same time
2. Halley made his discovery
A. by doing experiments
B. by means of his own careful observation
C. by using the work of other scientists
D. by chance .
3. Halley made a surprising,but correct prediction in the year
A. 1704 B. 1705 C. 1706 D. 1707
4. This passage in general is about ____
A. Halley and other scientists B. the orbit of a comet
C. Newton and Hatley D. Halley and his discovery
5. According to the passage,which one is not true?
A. Newton figured out the orbit of the comet.
B. Halley figured out the orbit of the comet first.
C. Newton gave Halley some help.
D. Halley died before 1758.

EERMAIESF.

RN TR TS SR E, RSB R E 75 R H BRI

1.B. AGNEMETUHEENNE KR FEREIRAANILUEEE, S
&4 = Fr*He figured out the orbits of «"EL & $PUEL“The more Halley thought about it,the
more---they had simply seen the same comet three times. " AU ERXEFYE FE— T HE
EiR R, LR A AR AR . 8E B,

2.C ATEHIEBRLR, BRI S 30U FE A HERR BT RO R 7% J 6] R
FREH A AR 8 % e A o B3 A AR W EE (BP using the
work of other scientists) , oI ftb f{T “careful observation” (Bl 5 %€ B) , IoiE m{d“by chance”
(EED), H AT HEITH 15311682 EHEEHE, WRASFHEREHR.

3.8 A R R R AL A, AR 53 2R 1758 FH R AL
M. #1758 W2 53 B HEE.

4D AUEEEZEEEAGETH X AEEREED BESEYWE. TER A,
B.C#REXEMETY.

5. B diﬁﬁﬁj[ﬁ%:&qﬂﬁﬁ——ihfﬂi*ﬁ,“Newton thought he had already worked out
that problem,but he +-he had done it. He told Halley that--- "} B8 = BZ %5 — %] “Now Hally
set to work”, i I, V] & 835 /3 3] Newton B k238 J5 A set to work, &% B.

brother , asking for $ 500. “Send the money by telegram,”he wrote, “to the Fisher

Bank in P+-”
After a week he began calling at the Fisher Bank. He showed his passport. “Nothing has
come for you, "he was told. This went on for two weeks ;and Mr. Frank got very worried. He

T

]—:\ While travelling abroad .Mr. Jackson Frank ran short of money. So he wrote to his



sent a telegram to his brother ,asking where the money was. There was no reply ,and no mon-
ey arrived for him.

In the fourth week Mr. Frank was arrested for failing to pay his hotel bill. His passport
was taken from him. He tried to explain the problem,but no one believed him. He was sent to
prison for sixty days. .

When he came out.he went immediately to the Fisher Bank. The clerk he spoke to was a
new man. “Have you received $ 500 for me?”he asked. “My name is Jackson Frank. ”

The clerk checked his books. “Yes,Mr. Jackson,it’s here. It came by telegram—let me
see—oh,more than two months ago. We wondered where you were. "He showed Mr. Frank
the order.

The order read;“Pay Mr. Frank Jackson the sum of $ 500---"

“But my name is Jackson Frank,not Frank Jackson.”

“Oh, that’s all right,sir. It was in our books under the letter “J”,but it’s your money. ”
The clerk laughed. “A human mistake ,sir] We’re all human beings,aren’t we? And so we all
make mistakes. A family name like Frank sounds strange to me.”

Mr. Frank was silent. He really wanted to hit somebody. At last he said,“A human mis-
take— is that what you call it? 1 think some humans need kicking. ”

1. Jackson didn’t just go to his brother and get some money because ___ .

A. he was afraid to see his brother

B. he was in prison and was not allowed to go anywhere

C. he was travelling in a foreign country and was far from his brother

D. he knew that his brother had no money

2. A week after he had written to his brother, Jackson began _ .

A. telephoning the bank

B. visiting the bank

C. shouting at the clerks of the bank

D. explaining his problem to the clerks of the bank

3. Jackson was arrestcd and sent to prison because .

A. his brother hadn’t sent him any money and he couldn’t pay his hotel bill

B. he had spent almost all his money and couldn’t pay his hotel bill

C. he had lost all his meney and couldn’t pay his hotel bill

D. his brother hadn’t sent him as much money as he asked for and he couldn’t pay his

hotel bill
4. Which of the following statements is true?

A. The money did not reach the Fisher Bank.

B. The money reached the wrong bank.

C. The money reached the bank after he was arrested.

D. The money reached the bank before he was arrested.

5. The clerks put his name under the wrong letter ___.

A. through carelessness

B. because they were human beings

C. because he had a strange name

D. by pronouncing his name incorrectly

“ g



S

ERAMEGY.,

X b S & et a0 R T Mr. Jackson Frank HE N, 282 H A (run
short of money) B RERKICK,. METRASHHZ 4N S8 Mr Frank $ 888
B, BOFEHE AR R BRI ERERXE. |

1.C AEREIAICH MR, LEE A H travelling abroad IR, A4 “H IR ¥E",
HWEC, MEEBMRBREEEDEHECCEE =B 4] In the fourth week Mr. Frank was
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2.B A EMANCHMIL, LEH BB P calling at 5 visiting Ky ] 337, B3
X 1R E S FT A OC R .

3.8 XGEKEM & Mr. Frank B EEFE . ERM XRPHSLBETHH TR, XE
% Bt 85 -4 Frank ran short of money fil 8 = Bt 8 —4) In the fourth week Mr. Frank
was arrested for failing to pay his hotel bill Zi8] T Frank S EMNFK ., MEE A HXER
PO FLEL -+it’s here. It came by telegram++),D #1538 R F PR B F “Pay Mr. Frank
Jackson the sum of §500++"), %% C X & #7{% & ran short of money ifj A& lost all his
money

4.0 AHR K HINOE X KT A A R R P 4 B, B R SO Y BB MR
MRS RS B A E AR BREN . ETICHAE M E R before i J2 after he was
arrested, A[ B % 2 % = B 4 I -- 4] “He was sent to prison for sixty days”, FUEE—9
When he came out .he went immediately to -\ Jt % H B #“- more than two months ago H]
FIWiE D,

5.A ABRBRTHREER R ALNELXTEHES B & the clerk fity— R , 1 %
% D AR AR, the clerks Z BT LASRES, EERH b fi10 carelessness, W A R H K

Frank had a strange name.

African jungle. A patient had gone fishing in another man’s boat. The owner of the
boat thought he should be given all the fish that were caught. Dr. Schweitzer said to
the boat owner :“You are right because the other man ought to have asked permission to use

D This incident occured one morning outside Albert Schweitzer’s hospital in the

your boat. But you are wrong because you are careless and lazy. You only twisted (#15%) the
chain of your canoe (1§ & f#) round a tree instead of fastening (& {¥) it with a padlock. Of
laziness you are guilty because you were asleep in your hut on this moonlit night instead of
making use of the good opportunity (§1£3) for fishing.”

He turned to the patient;“But you were in the wrong when you took the boat without
asking the owner’s permission. You were in the right because you were not so lazy as he was
and you did not want to let the moonlit night go by without making some use of it.”

Dr. Schweitzer divided the catch among the fishermanthe boat owner ,and the hospital.

1. Dr. Schweitzer settled the argument because _

A. he was the judge there

B. it took place at his hopsital

C. he wanted some of the fish

D. he wanted to help the patient

2. Schweitzer told the men that ____



A. each was partly night and partly wrong
B. both men were completely right
C. both men were completely wrong
D. one man was more guilty than the other
3. Schweitzer’s patient was right because
A. the cance really belonged to the hospital
B. he had used the night well
C. he had asked for permission to use the hoat
D. both A.and C.
4. The final judgment was that
A. all the fish should go to the patient
B. the fish should go to the owner of the boat
C. the fish should be destroyed
D. everyone involved should get a third of the fish
5. Implied but not stated: ____.
A. both men were patients
B. The natives trusted Dr. Schweitzer
C. Dr. Schweitzer’s hospital was in the jungle
D. the boat was fastened with a chain

LEZIMUELIRG .

— DR A6 AL E AR AE Albert 9 BE Bl i BT f, BT R T g, Bk
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1.8 Z[E & Dr. Schweitzer N+ 2 BEHBIXHYLG . SRS A T W R AT
A, B outside Schweitzer’s hospital, 3 & SCR /M BRI, B A PR X T, HRC
PR RS B i 4 SR L FE IR WIXJE Schweitzer #H ME . CENILLHE TIRHEEN
the owner F the patient &8 B, A D, 1l A TEALMAL,

2.A ABEEMLEMTH AWK, LEELH the owner F0 the patient & £ %145 (Bl cach
was partly right and partly wrong) . fi& A,

3.8 ASd R ScEaAA ik, V&S B T4 “You were in the right because
you were---making some use of it "B} %% used the night well,

4,0 EERMENILHZEHE. LER i — %) Fp*++-divided the catch among-+", F 1 divid-
ed BH“HH", B AEH 532 (one third) .

5.B Implied but not stated ShREEKEET XRKE. BN EE S s
W, T8 Al “HEBR RV RONIEHL. BRC.D T 30 85 55 — A F1 48 Bt (you only twisted-)EHH
Puira L T A X5 XERF.

ago 1 walked in the rain without my boots and my feet got soaked (32ifl). But so far
nothing has happened. Debbie once told me about a girl in her cabin {/\J&))at camp
who liked to stay overnight in the infirmary. She used to rub the end of the thermometer ({&
8% ) until it went up to 102. Then she’d stick it in her mouth and the nurse would think she

[‘ 1 have been trying to get sick. I don’t wear a sweater when 1 should,and two days

was really sick.
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This morning I tried doing that but it never went above 94 and I rubbed it for ten whole
minutes. So | held the tip of the thermometer next to the light bulb in my desk lamp and it
went up to 105. 1 figured (24 I’d put it in my mouth and walk downstairs like that. Then
my mother would take it out and wouldn’t she be surprised when she saw what a high fever
1 had!

The only trouble was I didn't know the thermometer would be so hot. As soon as 1 put it
into my mouth I burned my tongue. Something awful! I spit the thermometer out. It fell on
the floor but it didn’t break. 1 will have to think up a better way to get mother and father
back together. I can’t waste my time trying to get sick. That could take forever.

1. How does the author try to get sick?
A. She walks in the rain without her boots.
_B. She doesn’t wear a sweater when she should.

C. She plays in the hot sun,

D. Both A and B.

2. The girl Debbie talked about pretended to be ill ___ .

A. so that she could have a rest

B. so that she could sleep in the infirmary at night

C. so that she would not work the next day

D. because she was mad

3. When she put the hot thermometer in her mouth,
A. she dropped it down. B. the thermometer broke
C. her mouth felt hot D. she burned her tongue
4. She has been trying to get sick because .
A. she doesn’t want to go to school B. She misses her parents
C. she hates her mother D. both A.and B
5. Debbie once told the author about a girl in her cabin at camp who liked to stay overnight
in the infirmary. What does ‘infirmary’ mean?

A. Place for playing games. B. Place for sick people.
C. Place for tea. D. Gambling hours.
EEBMAEIES.

A HEMZ D AT VF%@&‘H??’S’Tﬁ‘éfﬂﬁﬁﬁiﬁ'%ﬁ—‘ﬁﬁﬁﬁiﬁﬁwﬁﬁﬁ%ﬁ$o
BENEFESGFHBEY ARG AT,

I.D AEEMTEMTHESE., XEH—BF T U don’t wear a sweater when 1
should .and---without my boots---) B # BB 3C ¥, §(i% D,

9.8 ADRMEICHEE, H—BENE " -who liked to stay overnight in - Ho
“like to do sth™ 8y RELIECEE 45 , B U5 805 49 H A9 . T “stay overnight "84 M B”, BUE %
AC AR D CEEE WA,

" 3.D j:@;%ﬁgﬁ%‘,j[ﬁ%?j&%:,Z‘EQ”EJ“---I burned my tongue--!I spit the ther-
mometer out. It - but it didn’t break?E & {588 , &k D.

4.B AFRHEEAHE-H, CEE=BP R A think up a better way to get mother
and father back together "3 F{EAL &1 Bl B & &l , Wﬂf’ﬁ%%iﬁﬂ-ﬁﬁﬁ&(ﬂp misses
her parents),
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